
CAT 2020 Slot 1 Questions
Q. Solve the following equation – 2a +b+c = y
Ans. 6.
Q. Solve: x+I/x

Ans. 1
Q. log qn y=?

Q Two cars move at a speed of 60 km/hr. They meet and take different
times to reach the destination. Preferably, it takes 20 and 30 minutes to
reach other end. What is the total distance covered to reach the
destination?

Q -log 2 (1/3)

Q 5y2 log

Q: Solve the following equation - 2a+b+c =y

Q: Reading Comprehensions(Topics provided below)
● Different Types of Aggression
● Piracy
● Visual Culture
● Renewable Energy
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